

$$12. h(x) = \frac{x^2}{\csc x} \quad p \quad p' = 2x$$

$$q = -\csc x \cot x \quad q' = -\csc x \cot x$$

$$\frac{p'q - pq'}{q^2}$$

$$h'(x) = \frac{2x \csc x - x^2 (-\csc x \cot x)}{(\csc x)^2}$$

$$= \frac{2x \csc x + x^2 \csc x \cot x}{(\csc x)(\csc x)}$$

$$= \frac{x \cancel{\csc x} [2 + x \cot x]}{(\cancel{\csc x})(\csc x)}$$

$$= \frac{x(2 + x \cot x)}{\csc x}$$

$$\frac{x(2 + x \cdot \frac{\cos x}{\sin x})}{\frac{1}{\sin x}}$$

$$= \frac{x(2 \sin x + x \cos x)}{1}$$

$$= x(2 \sin x + x \cos x)$$